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e History Ch-3, The Mughals (16" to 17" Century)

Ql.Assertion (A): The Mughal Empire declined after the death of Aurangzeb.
Reason (R): Weak successors and rising regional powers caused the decline.

I (a) Both A and R are true, and R is the correct explanation of A.
(b)Both A and R are true, but R is not the correct explanation of A.
® () Ais true, but R is false.

(d) A'is false, but R is true.

| Q2.Assertion (A): Akbar introduced the Mansabdari system.
Reason (R): The Mansabdari system helped organize the Mughal revenue system.

(a) Both A and R are true, and R is the correct explanation of A.

N (b)Both A and R are true, but R is not the correct explanation of A.

(c) Ais true, but R is false.
| (d) Ais false, but R is true.

Q3.The language of administration under the Mughals was:
{ (a) Hindi (b)Urdu
% (c)Persian (d) Arabic

Q4.Which was the last strong Mughal ruler?
(a) Akbar (b) Shah Jahan
| (c) Aurangzeb (d) Bahadur Shah Zafar

Q5. Discuss the relationship of Mughals with Rajputs.

Q6. What important factors did Todar Mal consider while conducting his land revenue survey during

o Akbar's reign?"




: Geography, Ch-2 Inside our Earth

Q1.Which layer of the Earth is made up of molten rocks and magma?
n (a) Inner core (b) Mantle
| (c) Crust (d) Lithosphere

Q2.The Earth's crust is primarily made of:
% | (a) Iron and nickel (b) Basalt and granite
™ (c) Magma and lava (d) Silica and oxygen only

Q3.Assertion (A): The Earth's core is extremely hot.
Reason (R): It is made up of heavy metals like iron and nickel.

* (a) Both A and R are true, and R is the correct explanation of A.
4| (b)Both A and R are true, but R is not the correct explanation of A.
™ (c) Ais true, but R is false.
(d) A is false, but R is true.

.| Q4.Read the given extract and answer the questions that follow:

Rocks roll down, crack, and hit each other and are broken down into small fragments. These smaller
4 particles are called sediments. These sediments are transported and deposited by wind, water, etc. These
| loose sediments are compressed and hardened to form layers of rocks. These types of rocks are called
.| sedimentary rocks. For example, sandstone is made from grains of sand. These rocks may also contain
fossils of plants, animals and other microorganisms that once lived on them.

i (a)What are sediments, and how are they formed?
(b)Why do sedimentary rocks sometimes contain fossils?
2y Q5. Why are grinding stones made of granite?
: Q6.How are intrusive igneous rocks formed and what are their characteristics?
Civics , Ch-3 How State Govt Works

y Q1.Who is the head of the executive at the state level?
+| (a) President (b) Governor
. (c) Chief Minister (d) Speaker

>3 Q2. Who leads the majority party in the State Legislative Assembly?
»'| (a) Governor (b) MLA
| (c) Chief Minister (d) Speaker

Q3.Assertion (A): The Chief Minister is the real head of the state government.
# Reason (R): The Governor is elected by the people.




| (a) Both A and R are true, and R is the correct explanation of A.
(b)Both A and R are true, but R is not the correct explanation of A.
(c) Ais true, but R is false.

(d) A'is false, but R is true.

Q4.Assertion (A): MLAs represent the people in the State Legislative Assembly.
| Reason (R): MLAs are directly elected by the people through elections.

(a) Both A and R are true, and R is the correct explanation of A.

(b)Both A and R are true, but R is not the correct explanation of A.

_4 (c) Ais true, but R is false.

(d) A is false, but R is true.
< Q5. What do you mean by the ruling party and the opposition?

Q6. Mention two important functions of the State Legislative Assembly.




